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QUESTION 1

Given the code fragment:

String name = “Fred”;
System.out.println(“Hello” + // Saying hello

name) ; // to Fred
System.out.println(“Gocd /* and ™ +

“ greeting */ day!"):
System.out // A welcome message

.println( “Welcome ™ 4+ name);

=T = T - P N

System.out.println (“Geocdbye /% Farewall + name”);

Which statement is true?

A. A compilation error occurs at line 5.
B. A compilation error occurs at line 3.
C. The code compiles without errors.
D. A compilation error occurs at line 7.

Correct Answer: C

QUESTION 2

Given: Which statement is true about the main method?

public class App {
public static wvoid main (Stringl[] args) {
System.out.println (“Hellec Jawval”™);

A. It can be a non-static method.

B. Its parameter can be of type Integer [].

C. It cannot be defined in a non-public class.
D. It cannot be invoked by its name.

Correct Answer: D
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QUESTION 3

14 =~ public class Test {
15:x public static woid main (String[] args) {

16 5tring digits = "@1234567897,;
17 System.out.printlng
18 digits.substring (
19 digits.index0f ("4"), digits.indexOf ("8")).concat ("89"));
28 }
21 1
JOK 11.0.4 v Interactive

CommandLine Arguments

Result
CPU Time: 0.14 sec(s), Memory: 30320 kilobyte(s)

456789

Given the code fragment:

int[] num = new int[2];
num[0] = 10;
numm[1l] = 15;

List<Integer> lst = new ArrayList<>(2);
1st.add (10);
1st.add {15):;

num[l] = 20;
1st.add{20) ;

for (int x: num) { System.out.print(x + ™ ™“); }

System.out.printla(™");
for (int y: lst) {System.cut.print(y + ™ “); }

Latest 120-811 Dumps | 120-811 VCE Dumps | 1Z0-811 Exam Questions 3/6


https://www.passapply.com/1z0-811.html
https://www.passapply.com/1z0-811.html
https://www.passapply.com/1z0-811.html

https://lwww.passapply.com/1z0-811.html
2024 Latest passapply 170-811 PDF and VCE dumps Download

What is the result?

A. 1020101520

B. A runtime exception is thrown.
C.10201020

D. A compilation error occurs.

Correct Answer: D

.Java:28: error: not a statement
List<Integer> lIst = new Arraylist<(Z2);
i
.Jjava:2@8: error: *;' expected
List<Integer> 1st = new Arraylist<=(2);
A
Java:Z1: error: not a statement
1st.add(18);
M
.Java:Z1: error: expected
1st.add(18);
M
.Java:Z2Z: error: a statement
1st.add(15);
M
:ZZ: error: " expected
.add(15);
M
.Java:25: error:
1st . add(Z28);
M
Java:25: error: expected
1st.add(Z28);
i
.Java:29: error: ')' expected
for (int y: 1st) {System.out.print {y + " "); }
A

/Test.java:29: error: ";' expected
for (int y: 1st)} {System.out.print (y + " "J; }

A

18 errors

QUESTION 4

Given the code fragment:
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a = ++ta + at+;
a = —&a — a—;
System.out.println (a);
What is the output?
A.8
B.3
C.0
D. A compilation error occurs.

Correct Answer: C

* Ry

15 = public class Test {

16 - public static void main {5tring[] args} {
17 int o= 3;

18 a = ++0 + 0++;

19 a=--a- a--;

28 System.out.println (a};

Z1 }

v

23 }

JOK 11.0.4 b

CommandLine Arguments

Result
CPU Time: 0.15 sec(s), Memory: 30492 kilobyte{s)

QUESTION 5
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Given:

class Product {
String color = null;
Product {Product p) {
this.color = p.color;

}

And the code fragment:

Product pl = new Product (); /7 line nl
pl.color = “White”;

Product p2 = new Product (pl):;

System.out.println (pl.color + ™ : “ + p2.color);

What is the result?

A. A compilation error occurs at line nl.
B. White : null

C. null: null

D. White : White

Correct Answer: C
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